—
i = TG

7%&1&%%%& = Yl 1 | ‘
79\7"r,\\h (\A HEH}T#IE\EEIET -’?ﬁﬁ

KR OEBEIIIBE T, $7o. FEHMLR CHLXEIT, R LIC L \w
DETLRBBANRH Y ET, @
%

B4 | FERTRR AT 158 (BEREAE(L) b

& | BT AENET 1EAe

B E | GEKKIER 250m SREEET O
JERIEE 15, 0m  (WIA%E 4. 0m)

WO | ERk 29 R~ TR (B

BR[| 2% (M6 3 A HERIRK)

H 0| BMTEORETIRERBIRMELR & | SEICHR O E R OB

DIz DWREZEM OB EITH b D,

/A N
y Lo Al I 67
/N
| /5 SHE R ;l &
G
),

L7

RN

A

EE L=250 - B8 %C@ 5!

=250m
>/ EERIES 15. Om (\JE’ L @o =

(WESEL W [N\ : g
i O O i
R, /)
D bO Q\,\ 0@ D iEJC
% ™ EZ/"‘ A N




